N = 0l & At & M A

20198 & =0lat LBl AL
A R =y
B NYE AM - HEE
Chels RN E (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Fal=n. 7,008,461 7,728,479 A720,018
< 240,000
Al 6,768,461
AL A48 &2 6,923,439 7,642,959 AT719,520
< 240,000
Al 6,683,439
DS 71,100 70,620 480
XA = =27 71,100 70,620 480
201 Let24d] 2,400 1,920 480
02 2324l 2,400 1,920 480
Oz22= & HA 2,400
— =& NHSHEHAE HILS
200,000& =122 2,400
301 LAz 2,700 2,700 0
12 JIEBHE4 = 2,700 2,700 0
OYEHM 2a2lo B (Rg2e] S PIHa)
300,000 » 12 «9IH & 2,700
401 AIEHIZL 201 66,000 66,000 0
01 A& Hl 66,000 66,000 0
OXg2eledxH S22+ 66,000,000 14! 66,000
CZANEE 2el 2,165,537 3,000,739 A 835,202
E2 |RA B 2l 1,052,547 2,068,905 A 1,016,358
101 @14 Hl 137,531 125,021 12,510
04 JIZHHZ2XNHEE S 137,531 125,021 12,510
OE2Y M=z o2 137,531
— QI 24 H| 66,8003 12 x120 96,192
— ZHAY| 2,000 =12 120 2,880
—F5d 66,8003 x12H 252 20,040
—MEUZEASY 43,3603 12«61 & 3,122
—AHEE = 15,297
HALEER 147,410,000& *3. 12% 4,600
-H3EE=E 147,410,000 x4 .5% 6,634
1E28= 147,410,000& *1.5% 2,212
MTHEE S 147,410,000& *0.923% 1,361
LOFIRAYEBEZ 6,634,000 *7.38% 490
201 £B-2%H| 69,866 65,636 4,230
01 At 22/ 42,480 40,580 1,900
Oger==EH| 1,400
- EXE ZU 22 SHItE HMH
110, 000& *5JH 2 *23] 1,100
—CdEXE HDE UM 300& =1,0000H 300
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B NYE AM - HEE
el S2AEE 22l (&)
SA - BB B () - MM - BES Ol &t o San HmEET
o=l 2,400
—E2EHARR HYs Y otME 1,600
s 25,0003 x8H x43] 800
Ot M S} 50,0003 x8H +23| 800
— L, L4FEXE S Y= 800
Y= 25,0003 x8H #43| 800
O= &l 14,000
—LF Os U S =X S204AY)
8,000 x25H 70 14,000
osgsg 1,680
—czEAYE Y Aoay
70,0003 x6H #43] 1,680
Oogxtz 23,000
—Sg H& SEHXZ
500,000& 23 s*2 23,000
02 =224l 27,386 25,056 2,330
033232 2 HA3U= 5,280
—NHED o232
20,0003 *20 2 =12JH & 480
—XNHED 8IJI2= 80,0002 24 120 & 1,920
—S2Z&H OISk B2
120,000& =4 CH 480
—otEgNJtn MERUFH SHRS
60,0003 *4CH 404 2 960
—AEHE 2 SR
60,0003 +6CH 404 2 1,440
OXt& & B 22,106
—0gs A HAl 300, 0002 =44 1,200
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— &I SNl 200,000& +30H 600
— 02l sl 150, 000& *6CH 900
— 2 AL FAY 150,000 =504 750
— M&DJl |l 90,0003 *9CH 810
—U=2x 222X |XHl 500,000 «60H 3,000
— XA X S 500,000& *2CH 1,000
—H&ExE "ol 7Y 40,0003 x4 2= «10CH 1,600
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—ANHE 2 7,000& 2002 1,400
— S 2oFEAL(FHLSAE S) BNz
- 500,000& =104 5,000
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Hu: (WE AL HEE
ChR: T 2A|d2 22 (2 &HH)
_ RE]
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—Ced, PHEd 9 54 =ANEA 2
el 23,000& 58 A x12& 1,380
— 40l ZTY EYH ¢
237,000 x2CH x33| 1,422
O3 &l 2,880
— 24, 2 IR L TEHE Y2 =T
E 204 Al H| 8,000 x5H x63| x12& 2,880
202 044l 8,550 10,055 A 1,505
01 2L Hl 8,550 10,055 A 1,505
OBMNARE=X 242/ H| 150,000& x3H *53| 2,250
OASHRFA 22104 H| 150,000 x3H 113 4,950
OEzdEE ¥ 2 - 3823 2204
150,000& *3H *33| 1,350
305 HHAZ2S 209,888 209,642 246
01 & 2SS 209,888 209,642 246
ORYOISE HaEPAS0 BHE S2A8R
XS (ZEHE, S BHR) 207,300,000& 207,300
OUFLMN E=2AEE X2
470.4m %110, 000 5% 2,588
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01 Al&H| 450,000 205,000 245,000
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ool SRAAE 2e (St
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OANUWYE IHEAHASZ S X E2(L=5,000m,B=2m
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OANUYY JIEAHE2 T M (L=5,000m,B8=2m)
20,000,000 *3JH A 60,000
ORI OEBAES HU (220, 0T S)
1,000,000 %2074 £ 20,000
O¢ES 95 2AH-2TYEN NENEZ ¢ 2
HH| (=0 & 00l &) 82,000,000 *1IH A 82,000
Odtgds ¥ £2~-5Ua2 AtH2IZE &
AAETZ HUI(FLUEAO A
100,000,000 * 194 A 100,000
CEANEE B2 2,120,410 2,237,347 A 116,937
[ 220,000
Al 1,900,410
CER2E ALY 1,411,200 1,602,487 A 191,287
[ 220,000
Al 1,191,200
201 LBty 5,800 5,800 0
01 At 22l H 4,200 4,200 0
o2g4+4 4,200
—HEI| ARG 5o MY
70,0002 *15% %43 4,200
02 B22ZH] 1,600 1,600 0
OXtet & gh| 1,600
— 2ME BEI}BHS =F)| HI|IFA L
SXIHl(20H) 800,000 *2CH 1,600
202 04l 1,800 1,687 113
01 2ol 1,800 1,687 113
SADA EXNE L ASZA 2204
150,000 *3% %43 1,800
401 Al HI 2 200 1,403,600 1,595,000 A 191,400
[ 220,000
Al 1,183,600
01 Al&HI 1,400,000 1,595,000 A 195,000
OSRAEES S 2AAS DIANZAY
10,000,000 * 1070 A& 100,000
OANUYLS 2HHE2 SINR)| EX
500,000,000 * 14l 500,000
OAMUY A L2FA X Z A 10,000,000 *500 & 50,000
OA2 L AYE2 GUMR)| LA
50,000,000 *4JH A 200,000
OAULY 222 292 E IXZAH( ML
) 25,000,000 *20H A 50,000
OSY2E 2AAL T2 0INEYNAE SX(F
91 204 0l At ) 50,000,000 14l 50,000
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Oasts 2L ASE 3 AH(FAUE0 )
90,000,000 =14l 90,000
OBHE ZZA T2 DINHYNAL ¥ 28
A sHEd Y AXI(F0F0100aH)
80,000,000 =14 80,000
ORYs EAXNY OS2 ZESA
60,000, 000& =14 60,000
Otlsgs E2XH & 533900 &2 0tA2
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Ollds Ot Z2 ==4A &F &
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201 L2l 6,210 4,860 1,350
01 At 22l 3,450 2,100 1,350
Oget=&H| 3,450
—SAHEIRARE L FOHQ BHAANE AMEH
ad A =Y 100,000& 3 100 A& 3,000
— i 2y FRAZE I =
150,000& »2H 300
—ZtHtIcHAtE i HAZE otA G
75,0003 x2H 150
02 8323l 2,760 2,760 0
O2uhe oHaEdn 224 Mtz @ M= 1,560
— &3z (dHYEsS)
30,0002 1201 & 360
—MIQB(HFTAD SEIIIS)
100,000 1200 & 1,200
OASAHE & -ol=& AEE
100,000 1200 & 1,200
401 Al& I 28I 388,000 360,000 28,000
01 A& HI 388,000 360,000 28,000
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el
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Age 24 -2 gy
CZANES =25

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O=1, Y, BHE S A2 84 - 82
20,000,000 x50 &~ 100,000
OUSAHYE AlEE B4
60,000, 000& = 14! 60,000
OMFICR A2 242 40,000,000 *14] 40,000
ORAMP-AR Al 2 Ex=22Z 60,000,000 14! 60,000
ORAMP-D2 A8 = E=22 40,000,000 1A 40,000
O=22dXotxie dudyAdad
22,000,000 x 1Al 22,000
OAHE IC RAMP-E! AL XA EA
22,000,000 x1A! 22,000
OMFIC-1R HUHAES  22,000,0008! 14! 22,000
Odtg Dot dadEdaed 22,000,000 14! 22,000
B AEEAS 215,000 270,000 A 55,000
401 AlEHIZL L2 0HY| 215,000 270,000 A 55,000
01 Al&H| 215,000 270,000 A 55,000
OB 22X Htzwel QI
10,000,000 »8JH A~ 80,000
OAMUWHY Y BRI AL HU ALY
5,000,000 *3JH & 15,000
O3tgte] o SX2el
10,000,000& *23] 20,000
OB&#EA HEXP ZHAYE
100,000,000 =14l 100,000
MES SAMI(2EUAEXR) HUHAY 100,000 0 100,000
401 A& HI L 204 HI 100,000 0 100,000
01 A& H| 100,000 0 100,000
OXES S2HEAX EHAMY HAEX 2a
100,000, 000& x 14! 100,000
AMHAE (AEE2 WA 2,390,000 2,170,000 220,000
StexSEstn ¥ XUE EEZA 200,000 40,000 160,000
401 Al HI L £ 0HHI 200,000 40,000 160,000
01 Al& B 200,000 40,000 160,000
Ogtexssn ¥ XUE &2 AH(L=585m, B=8m
) 200,000,000 x 1Al 200,000
MStE HAZAI =8 T2 A 100,000 230,000 A 130,000
401 AlEHIZL 2 0HY| 100,000 230,000 A 130,000
01 Al& H| 100,000 230,000 A 130,000
Outsts OHAIEFAN =8 =214 (L=100m, B=10
m) 100,000,000 =14l 100,000
SYIIRUMGIAE F 2L 200,000 100,000 100,000
401 AlEHIZL £ 0HY| 200,000 100,000 100,000
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X ZH -
L= B
el

4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
01 A& HI 198,560 100,000 98,560
ORglI2Meld &€ T 24 (L=185m, B=6m)
198,560, 000& 198,560
03 AlE 2 THHI 1,440 0 1,440
OKRLitusE & T2 IHA (L=185m, B=6m)
200,000,000& *0.72% 1,440
sZxssd € T2HE 100,000 220,000 A 120,000
T AEHIZEUY 100,000 220,000 A 120,000
01 A& HI 100,000 220,000 A 120,000
Osxz&stn ¥ TZI4H (L=295m, B=6~8m)
100,000, 000& 100,000
otYd = et2us & E2I4 250,000 0 250,000
401 AIEHIZ 28I 250,000 0 250,000
1 A&l 250,000 0 250,000
Ooteds st2ws & =24 (L=170m, B=6m)
250,000,000 =14 250,000
s Baits Y2 He 150,000 0 150,000
401 A& BIZ 201 8I 150,000 0 150,000
01 A& HI 150,000 0 150,000
Ollgs ot MY & (L=80m, B=8m)
150,000, 000& * 14 150,000
2= H=0E~SEZD & T2H4 200,000 200,000 0
401 Al BIZ 201 8] 200,000 200,000 0
01 A& HI 200,000 200,000 0
ogds U30E ~3X10 ¥ T2IHE(L=160
m, B=8m) 200,000,000 =14 200,000
Ot2lOtDW~P)SSEA} T2 200,000 100,000 100,000
401 Al& I 28I 200,000 100,000 100,000
01 A& HI 198,560 100,000 98,560
Ottelotnw ~ P)sSZEA2F S 24 (L=132m
, B=12m) 198,560, 000& 198,560
03 A& S THHI 1,440 0 1,440
Ottelotnw ~ P)sSZEA2F S 24 (L=132m
, B=12m) 200,000,000& *0.72% 1,440
FFNHEE=SSW @ 24 100,000 100,000 0
401 Al& I 28I 100,000 100,000 0
01 A& HI 100,000 100,000 0
OZFneEsxzs8sn &€ =24 (L=80m, B=
6m) 100,000, 000& 100,000
Ol2s dX0ts 2+ E2H4 100,000 0 100,000
401 Al& I 28I 100,000 0 100,000
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01 Al&H| 100,000 0 100,000
OX&X0tE 232 S2I4A (L=190m, B=6m)
100,000, 000 100,000
FEns s2sa € 20 90,000 0 90,000
AEH L 200 90,000 0 90,000
01 Al&H| 90,000 0 90,000
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90,000, 000& = 14! 90,000
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401 Al HI L 2 0HHI 200,000 0 200,000
01 Al&H| 198,560 0 198,560
Osds E=YF=XE =8 T 24 (L=140m, B=
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03 Al 201 Y| 1,440 0 1,440
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10m) 200,000, 000& *0.72% 1,440
ZNE SURIE € T2 100,000 0 100,000
401 Al HI L 2 0HHI 100,000 0 100,000
01 Al& H| 100,000 0 100,000
O=WSsS EURIIE ¢ T 244 (L=80m, B=6m)
100,000,000 =1 4! 100,000
Y2 FOHEH &€ TS24 200,000 0 200,000
401 Al HI L £ 0HHI 200,000 0 200,000
01 Al&EH| 200,000 0 200,000
O2g2s =0ldy ¥ T 244 (L=90m, B=8m)
200,000,000 « 1Al 200,000
SAN~GEZFTD S22 T 2HAE 200,000 0 200,000
401 AlEHIZL £ 0HY| 200,000 0 200,000
01 Al&H| 198,560 0 198,560
OZZD-YSED 22 T2 Ih& (L=420m, B=
8~10m) 198,560,000 198,560
03 AlE 21| 1,440 0 1,440
OHAD~-YESED 22 T2 IH& (L=420m, B=
8~10m) 200,000,000 *0.72% 1,440
S INSACAY 176,392 164,253 12,139
& 20,000
Al 156,392
SZ2IN=HH ALY 176,392 164,253 12,139
= 20,000
Al 156,392
101 Q124 4| 64,538 82,689 A 18,151
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